0002295904077999

o0 EHYEXY 06—0—>

2

2013 4F B - EAEHR (RTHE) 55 2

SXARA L+ CCm—Dr2+ O —mlz—m—3=0, BREZ32DEDMELD2L X, EHm DA

DFEPH 2 KD T,

f(xy = B+ (em-1) 2%+ (3-m)x ~m=3 tH<E,

fth= 1+2m-7+8-m-m~3
=0
_ X2 +(2m=6)x + m+3
'f‘(I)JI = T@’J 1) ] N 3. -1 )rx3+(2m_7)121,(q_m)1_m_3
xi__xl
7R 0) &Y
: %E ' (2m=6) "+ (9-m)x

(x-1){ 22+ 2(m-3)x +m+3} = 0 (2m=6)x*+ (6 ~2m)x

. . (3+m)x~m-3
Loxtta(m-3)x+m+3=0 M 1M9t0 (3+m)x - m=3

Brizontophi 2 tTdLD o

Dy = (m-3)"= (m+3)

= m*=-Tm+4¢
(m=e)(m-1)>0 = M<E E<m @
2
[ERB b RTBums, +tam-3)+mizzo o mEy 0@

B3 e B ol &Y,
oL+p = -2(m-3) >0 - M<3 @

oAf = m+3 >0 sm>-3 @

2 2
Q~@&). -3<m<F, F<M<

=




